ON (mod 19)

40 = 39%

blocks | defect matrix
G: 1 1 9x6
2 0 109441 = X2, P2
3 0 133761 = X3,¥3
4= g 0 133762 = X4,P4
5 0 259161 = X5,¥5
6 = 5 0 259162 = X6, Y6
7 0 267521 = X7, ¢7
8 0 323951 = X8, P8
9 0 323952 = X9, P9
10 0 376961 = X10; %10
11 0 526681 = X11; %11
12 0 583111 = X12;¥P12
13 0 583112 = x13,¥13
14 0 583113 = X14, P14
15 0 586531 = X15;,¥15
16 0 647901 = X16; P16
17 0 647902 = X17, P17
18 0 1433741 = X20, Y23
19 0 1692901 = X21,¥24
20 0 1692902 = X22,¥25
21 0 2340801 = X29; Y26
22 0 2340802 = X30, P27
3.G: 23 0 3421 = X31, P28
24 = 23«
25 0 3423 = X32, P29
26 = 25%
27 1 9x6
28 = 27x
29 0 56431 = x35, ¥32
30 = 29%
31 0 56433 = Xx36, ©33
32 = 31x%
33 0 56435 = X37, P34
34 = 33%
35 0 526682 = X33, ¥36
36 = 35%
37 0 526684 = X139, P37
38 = 37x
39 0 583114 = X40, ¥38




blocks | defect matrix

41 0 586532 = X41,¥39
42 = 41%

43 0 636121 = X42, P40
44 = 43«

45 0 1113211 = X43, P42
46 = 45«

47 0 1166221 = X44, P43
48 = 47x

49 0 1692903 = x46, P44
50 = 49x

51 0 1692905 = X47, P45
52 = 51x

53 0 1696321 = X48, P46
54 = 53%
55 = 574 0 1696323 = X49, P47
56 = 55%

Block 1: | v1 @18 w19 @20 ®21 P22
Li=x1| 1 .

85064, = x15 | . 1 . #1
1169631 = x19 | 1 . 1 P18
1756161 = Ya3 . 1 . . #19
1756165 = Y24 1 1 . #20
1757701 = Yos o1 . #21
2073607 = 26 1 1 P22
2073602 = X271 1 1
2073603 = X28 1 1

Blocks 27, 28: | w30 @31 ¥35 Pa1 P48 Pag

4951 = X33 1 .

4953 = X34 1 . #30
1227601 = Y5 1 ) ) P31
1757702 = X50 1 . #35
2073604 = x51 1 Pa1
2073606 = Y52 1 Pas
2073605 = 53 . . 1 Pa9
2534403 = X55 1 1

Iy
85064
85218,
90398,
90552,
116962,

4951
4953
450904
776701
1757704
2073604



